Chemistry 3311-100 ‘b

Orgamic Chemistry/Dr. Barmey Ellison
20 197 Thurs @ 19:40 — 20:30/2* Exam
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Mame: (please print)

1. (20 prs) Carry out the following transtormations. Use any reagents you like.
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2 (10 pts) Consider the ozonolysis of the cyclohexene. w &'f’ \"[:Hr:'
1) Which compound is the product of the reaction? ko o Oz i
b) Which of these compounds is chiral? *\:\\1‘\" ~ et \~cho
e} Which of these compounds are enantiomers? Ho * . .~ . R
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(5 points) Filpp-:-se that one had used the isomenc diol as the subsirate. What is the

product of czonolysis here?
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3. (15 pts) This natural products has 8 sterecisomers. Write all of them down & label
each of the stereccenters. (28, 35, 58) erc....
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Gl:i. 32, 54) (2R 35,5%)
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4. (10 pts) What is the mechanism of these reactions?

Uy I ol & —
o =  Chef=c.,, + “TokeQd
N, ,,_._g N 24— Ch- 3 24
Nat
o
] :, :! — rc-:i'r lb'ﬂ-'?. -
3:“.«:- {-gg‘} ‘\‘""‘"‘5'“"“"‘1 - ﬂ.w S
Ch, - G, éﬁ;‘;\
_ . o MRSy s B ot
o E{Pn:} ) e B g =
{ ‘:j_ < c-
7 g, L5 R T
Chy I 10 e o Jf 2a- e =%y,
e e St _
= o BiGisaa —
= e =Ry 24 -
& = Th = “en—tN + (R
N: CA Nep— & 7 .Fl
9% ! 74

c_::hlz \\JUU\ -3 EN PN U‘Q"‘-\‘: Ih"‘u —= &'«"‘1:&

Ih A
s vy /
w7 D -ttt 3 N =Gk
i

: ==
YLD A & FJ?M . ﬁf_&w{& ﬂ-«i.-i--ﬁ' T A QAL el

Alles gk,



-6- 32097

5. (40 pts) Carry out the following transformations, Use any reagents you like.
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